
 
 
 
 
 
 
 
 

 



 
Reading Passage 1 : 

Sugar is a major source of energy for the human body, especially for the brain. The brain uses about 20% of 

the total energy that the body needs each day, and glucose, a simple sugar, is its main fuel. Without enough 

glucose, people may experience fatigue, poor concentration, or even confusion. 

Although sugar is necessary for brain function, consuming too much of it can be harmful. High sugar intake 

over time may affect memory and learning. Studies have shown that excessive sugar can lead to inflammation 

in the brain, which may slow down cognitive processes. 

In addition to its physical effects, sugar also impacts behavior and mood. Many people feel energetic after 

eating sweet snacks, but this is often followed by a sudden drop in energy, known as a “sugar crash.” This 

crash can lead to irritability and difficulty focusing. 

Experts suggest that balanced blood sugar levels are important for mental performance. Eating foods with 

complex carbohydrates, such as whole grains and vegetables, can help provide a steady source of energy for 

the brain without the negative effects of added sugars. 

 

1. What is the main idea of the passage? 

A) Sugar can cure brain diseases 

B) The brain does not need sugar to function 

C) Sugar affects both brain function and mood 

D) People should avoid all types of carbohydrates 

 

2. Which paragraph discusses the negative effect of sugar on memory? 

A) Paragraph 1 

B) Paragraph 2 

C) Paragraph 3 

D) Paragraph 4 

 

3. What does the pronoun “this” in paragraph 3 refer to? 

A) A healthy diet 

B) Feeling energetic 

C) Eating sweet snacks 

D) A sugar crash 

 

4. According to the passage, what is a better alternative to high sugar foods for brain energy? 

A) Fruit juice and candy 

B) Processed grains 

C) Complex carbohydrates 

D) Fats and oils 

 

5. Which of the following is NOT mentioned as a consequence of low glucose levels? 

A) Fatigue 

B) Confusion 

C) Weight gain 

D) Poor concentration 

 
Reading Passage 2 : 

Addiction is a chronic, relapsing disorder characterized by compulsive drug seeking and use despite harmful 

consequences. It is considered both a complex brain disorder and a mental illness. While addiction can be 

triggered by various substances such as alcohol, opioids, and stimulants, it can also involve behaviors like 

gambling and excessive internet use. 

Modern neuroscience has shown that addiction significantly alters the brain’s reward, stress, and self-control 

systems. These changes make it extremely difficult for individuals to stop using without professional help. 



Importantly, addiction is not simply a lack of willpower or moral failure but rather a medical condition 

requiring structured treatment. 

There are several treatment approaches available. One of the most common is behavioral therapy, which helps 

individuals recognize triggers, manage cravings, and develop coping strategies. Cognitive-behavioral therapy 

(CBT) is particularly effective in reshaping the thought patterns that fuel addiction. In addition, medications 

such as methadone, buprenorphine, and naltrexone are used especially in opioid addiction to reduce 

withdrawal symptoms and prevent relapse. 

Another promising avenue is the use of holistic and supportive care methods, such as mindfulness, exercise, 

nutrition, and group support systems like 12-step programs. Combining medical, psychological, and social 

interventions often provides the most effective results. However, treatment is not one-size-fits-all. 

Personalized care plans that address each patient’s specific needs, including mental health conditions, are 

essential for long-term recovery. 

 

6. What does the passage suggest is the primary nature of addiction? 

A) A series of poor lifestyle choices 

B) A temporary mental issue 

C) A chronic brain disorder and mental illness 

D) A result of weak moral values 

 

7. According to the text, why is it difficult for people with addiction to stop using drugs on their own? 

A) They lack awareness of their problem 

B) Their brain’s reward and self-control systems have been altered 

C) They fear losing their social identity 

D) They are unwilling to seek help 

 

8. Which of the following treatments is most commonly used to change thought patterns in addicts? 

A) Methadone therapy 

B) Group therapy 

C) Cognitive-behavioral therapy 

D) Nutritional planning 

 

9. What is the main benefit of combining various treatment methods, according to the passage? 

A) It speeds up the process of detoxification 

B) It eliminates the need for medication 

C) It addresses the disorder from multiple angles for better outcomes 

D) It replaces the need for psychological support 

 

10. What is emphasized as critical for achieving long-term recovery? 

A) Use of only holistic methods 

B) A standardized treatment plan for all patients 

C) Avoidance of social interaction 

D) A personalized treatment approach tailored to individual needs 

 

Vocabulary Questions : 

11. The disease was hard to diagnose because its symptoms were so _____. 

A) contagious 

B) vague 

C) severe 

D) chronic 

 

12. The patient suffered from a _____ infection that required long-term treatment. 

A) minor 

B) chronic 

C) acute 

D) sudden 



13. Malnutrition can seriously __ a child’s development. 

A) boost 

B) hinder 

C) restore 

D) clarify 

 

14. The study shows a strong ______ between air pollution and asthma. 

A) correlation 

B) medication 

C) inflammation 

D) diagnosis 

 

15. Doctors must obtain the patient’s _____ before surgery. 

A) observation 

B) permission 

C) consent 

D) assumption 

 

16. The treatment was not ______ and the symptoms returned after a few weeks. 

A) effective 

B) temporary 

C) intensive 

D) harmless 

 

17. The research explores the epigenetic mechanisms through which environmental toxins may induce ____ 

changes in gene expression. 

A) palliative 

B) transient 

C) heritable 

D) iatrogenic 

 

18. The patient’s condition deteriorated due to a cascade of immunological events leading to systemic ____. 

A) necrosis 

B) fibrosis 

C) anaphylaxis 

D) inflammation 

 

19. Despite extensive treatment, the tumor remained __, resisting both chemotherapy and radiotherapy. 

A) refractory 

B) latent 

C) regressive 

D) asymptomatic 

 

20. The psychiatrist diagnosed the patient with a rare dissociative disorder marked by frequent episodes of 

______ and identity disruption. 

A) amnesia 

B) delusion 

C) derealization 

D) catatonia 
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